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FSE 30 
FIRST YEAR HIGHER SECONDARY 

SECOND TERMINAL EVALUATION: DECEMBER-2018 
Part-III 

COMPUTER SCIENCE 
Maximum : 60 Scores 

General Instructions to Candidates: 

Time : 2 Hours 
-Cool-offTime: 15 Minutes 

• There is a 'Cool off time' of 15 minutes in addition to the writing time. 

• • Use the 'Cool off time' to get familiar with questions and to plan your answers. 

• Read questions carefully before answering. 

• Read the instructions carefully. 

• Calculations, figures and gra~hs should be shown irt the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. 

• Electronic devices except non programmable calculators are not allowed in the Examination Hall. 
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PART-A ·,: 

Answer all questions from 1 to 5. Each carries 1 Cll6®am 5 ru@row6~ Cl{D,~P CJ.!l..lOBJ6lfBcJtic0060 

1 score. 

n 
(5xt=5) 

.1Js;'• 

1. Which of the following is the largest two 
1. .!l..l6ClJ6)S 6)c&.,0S6cm>1Ci>lc006cmrucnJlarn 0@8ClJ6o 

rueflw (l)~cB6') 6)n0c£hCTl)06)(U)ou]Qlarn cruo~J 
digit hexadecimal number? 

O@®u? 
·o ,.u .. 

a) 99 b)AA 
Clij))99 (mll)AA 

c) 16 d)FF 
..... 

.i@}j;. 
(cru1) 16 (cwl) FF 

2. Draw the flowchart symbol that has one 2. 63<06 ln.J<Xru(ll)m ro®1<DJ6o ro~u m1&roaim 

entry flow and two exit flows. 
roarll~Ql~ nOO~ .!l..JO©§ .!l.Jlnmo ru~6c&.>. 

3. Which data type in C ++ does not require 
3. C++ 6)e.J O@®u CU>OA06)6)SCJ:llmo61T) 6)Qlmll01 

CG'@>ClJC/l) cY1)1~0~Cl!)u? 

memory? 

4. Int num[20]; n(i)<m C++ <tm)6)()mJ]6)eJ 

4. How can we refer to the last element of 
am, ru cru o m 6l cm> mm o C/l) 6) <tt'rn> 

the C++ array intnum[20];? 
n.Jrooai&u61c006cm6l®6lfB(i)m ? 

5. How many parameters are there in the 5. .!l..l6ru@s c&.>061T)J<m C++ n.Ooroun9:lcro 

following C++ function prototype? 
<3Ln.JOC3§06l6)$~Clm Clij)L® n.JO<OOmiAOJ~6T@? 

int sum(int, int); 
int sum(int, int); 
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PART-B 

Answer any NINE questions from 6 to 16. 6 m6cmarn 16 n.J6)ct>cn.>~ <J.!l.lOC3~615B~arn n{j36)CID1a:,1e.i,!p 

Each carries 2 score. (9x2=18) 001.l®~m~oo0ll96cm6c&.i. 2 ~rulCIDo 

6. Find out the binary and octal equivalents 

of the decimal number 65. 

7. ~- Find the 2's complement of-38 (negative 

38). 

6. 

7. 

6)6)6YlJffi01, 

c£b6TTs6nJlslc00 6&:h. 

(9x2=18) 

-38 (6>ffiOOAinI 38) 6)~ 2's 18cfhOogJ16>m(@' 

c£b6TYs6nJlslc006ce,. 

8. Write any one statement of 8. 6YlJ~cn.>cro mY0o1i~t6YlJomJl6)eJ <JdbOogJ16)m~o1 

9. 

complimentary law in Boolean algebra 

and prove using truth table. 

Read the following C++ statements and 

predict the output. 

int a=7 ,- b=2; 

float c=a/b; 

cout << c << '\t' << a%b; 
~ 

9. 

10. Identify and correct the errors in the . 10. 

following C++ program 

#include (iostream) 

using namespace; 

int main () 

{ 

} 

cout >> "hello world" 

return; 

m1cn.>mcml16>~ nffi6)CIDia:,1e.J66)1JlOct>6 ln.JcillOrum 

Cl{j) 19 6 CID1 ls l-cmlu CJ S 6YlJ1 cm ~n.J CJ en.> o 001.q,f 

6)(ID~mJlc006c£b. 

.!l.l6ru6>s cfho6m6cm C++ 18~8"6)m~6cfhcm 

ruomJl.gd" 63'0§n.Jc§ Ln.Jru.!lllc006c£b. 

int a=7, b=2 

float c=a/b; 

cout << c <<'\t' << a%b; 

.!l.l6ru6)s 6)cSJOS6cml1cn1c006cm C++ 

<3ln.JOLOOOm16)eJ 6)CID86c£bcm c£b6)6TTscml1 

U00>1cn.>Oc86)6cfh. 

#include (iostr~am) 

using namespace; 

int main () 

{ 

} 

cout >> "hello world" 

return; 
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11. Write down the data: type modifiers of 11. 

C++ 

12. Distinguish break and continue 12. 

statements in C++ when used within 

loops. 

13. Rewrite the following for loop using 13. 

while loop in C ++ 

for (n=l, s=O; n<lO;n++) 

s+=n; 

14. Declare an array in C++ to store the CE 14. 

marks of six subjects and initialize it with 

your CE marks. 

15. How does binary search method differ 15. 
from linear search method when they are 
used to perform search operation in 

arrays? 

16. Distinguish call-by-value method and 16. 

call-by-reference method in function 

calling. 

_ PART-C 

c++ 6)e.J ruX)ff)6)6)$(~r CllQ)O<U>1n.0wo6<&..cil> 

n0':96®6c:£h. 

C++ 6)e.J break, continue '8t;Q.m"6)m~6c:£hcil> 

eJ6<.tllm6~1ctrn ~n.J<ll<DJO(J)1c66'l6<llmJ0':9 6~ 

ruc\®<lom.>6)mmn"? 

.!l.J6ClJ6)S c:£ho6m6CTn C++ 6)e.J for e.i6~6)m 

while e.J6<;½:JV ~nJcxwoufl~ ... moA16)<DJ':9 6®J<&..: 

for (n=l, s=O; n<~O;n++) 

s+=n; 

ar@O o.Jlcrl:l<DJ611l3™6)s CE moroc66'l6c:£hcil> cx~oro 

6).!l.J~om6~ 63ro6 arn>6>0 C ++ ctrn C'I.Ul~wio 

6>.!l.JW® arn>®1ctrn m1611l3™6>s CE moioce6)6<&..do 

Ln.J OCllo<s oJl e.i c:£h~Om51 (EC/1)@.l ro1 c66'l 6c:£h. 

arn>6)0<DJ1ctrn @1rowrn'i> LnJt<&..1<DJ~ow1 

~nJ<llWOcn'lc66'l6cm 6)6)6U.Jffi01 6)ffi)ffi.9z!" Clli@1 

eflm1wom 6)ffi)ffi_q.f ro"l@1<DJ1ctrn m1cm6o 

ClJ,\®,\'mO'l0<&..6cm®u n0611l36)ffi ? 

n.Ooro"crl:lcm <&..O~oro1m~ 

c:£h0®-6)6)ffi.J-ClJ OeJ d6 ml arlJ <DJ 60 dh000-6)6)6Yl.J­

On.O O®m>" ro"l®1<DJ6o cmam1e.i~ 

ClJ,\® ,\Offi)6)Q)':9 6®6cf:b. 

nJ08>3':' cru1 

Answer any NINE questions from 17 to 27. 1 7 m6®ctrn 27 ClJ6)a><DJ6~ <J.!l.JOB,\611l3~1ctrn 

Each carries 3 score. (9x3=27) O{B6)®!B:.1e.J6o 63m.J®V n0GJ;Rmll>1m"~mmm6>m':96®6<&..'. 

17. · Draw the diagram of Von Neumann 
630<Ja>ocm1m6o 3 cru"cx<&..o& rul®o. (9x3=27) 

architecture of computer and mark the 17• cf:bm.J~016>~ <llruo6Ti& m~mocm ae.Jsm<DJ66)s 

components. 
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l 8. With the help oflogic circuit, show that 

NOR gate can be used to express logical 

AND operation in Boolean algebra. 

] 9. Write any three registers inside the CPU 

and specify their functions. 

18. NOR al(J)ff ~n.Jal(ll)0(J)1aj" 6T)J,~1wcm 

(8Yg)OOSl1lmJO(ll)16)e.J CJeJOSl1cB6)co'& AND 

630~ alO~ <m (BYg)n.fl ~"c0:,m1cB6)0ffiOn.J66)Q) rm" 

ai ei o Sl1 cfh.. cru& c£h c')~§16) 1 cm n{) ow cs rnmq 6) s 

6)@glcoJlcB6)Jcfh. 

19. CPU ru1m6~16)eJ <l(B6)<iSHa,1ei6o m~rm" 

CllSl1~o6cfh~i6)$ <8n.J6)Cll196®1 ®lln.JW66)S 

wmamo cru~~cB6)c!,c0:,. 

20. Explain any three functions of operating 20-

system. 

630~<llOA1o(J)" cru1~ml!>16)~ <l(B6)@8:h1eJ6o 

m1,cm W©a:1Il6GBOO n.flCR>C3(])0cB6)Jcfh. 

f 1. Draw the flowchart to display the first N 
21 

· 

natural numbers. 

aJ© 0 ,\ 6) mm N cm ow om 6ffi cm o 6l.l c')c&., cf6 

Ln.JGioCR>1 ~ cB6)6rmcm1 m6~ cuJ"(J~O.!l.J om§" 

rum~6c0:,. 

22. Explain the three types of errors that 22. <SLn.JOL(J)Om6c0:,~co'& cruo@n.flc:B6)6rm micm cromo 

occur m programs. 6)®fMcfhcf6 n.flCR>~cfhm1cB6)6c0:,. 

23. Some of the following identifiers are 23. .!l.J6ru6)s 

invalid in C++. Identify them and write 

the reason for invalidity. 

a) cpp b) 2num 

c) void d) Number-

e) a#b 

a) cpp 

c). void 

e) a#b 

· b) . 2num 

d) Number 

24. With the help of an example, show that 24· .!lllei crura&@6GB§lco'& if - else a:~ff6)m~m 

· switch statement can be used instead of n.JcfhCllo switch ~n.J<SCll>O(J)1cB6)06)mrm" 
if-else statement in some situations. 

~00n{)Cll6ffi CTUn{)1m>o ru~moc006c0:,. 
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25. · Write an algorithm to perform bubble 25- 63<06 <m'06)0wJlcirn 6Yll6Yl11cro cgmxJ«>§ 630<;½:JC80n3:1® 

sort operation in an array. msrm,6cm<lrllm~ <m'OClrn6)(l)Oa!lCl5'lo n{f)l§l6Cl5'l6<i±>. 

26. Suppose the statement cin >> str; is 26
· 

str[20] Officm <f±>doro<i±>"s& <m'06)0mJlam 63<06 

used to input a string in a character array m>'tslocri' g2cfon.J&§" 6).!lJ~ocfo cin> >str; Clij)cm. 

str[20]. What can be the problem in this C8~Ff6)ai1f ~n.J<3Cll)O(l)1c66)6cm6 n{f)cm~ 

usage of input? Explain how getlineO <f±><06Cl5'l6<f±>. g2'D Ln.JC8Cll)O(l)cm-ID16)e.J ln.J~o 

function helps to overcome this nffiCTIDOCl2)1<01c66)6o ? g2'D ln.J~o Cl5'l<06mo 

problem. 6).aJ~OITTJ getline () n!)o(l)"n3:Jm, n{f)Elm6)ffi 

27. lndentify the header file from column B 

for each function given column A: 

A B 
(a) abs() (i) String.h 
(b) isalpha() (ii) stdio.h 
(c) Strcmp() (iii) math.h 

(iv) ctype.h 

PART-D 

Answer any TWO questions from 28 to 30. 

Each carries 5 score. (2X5=10) 

28. What is the role of primary memory in 

computer? Briefly describe. the three 

types of primary memory. 

CB'@)QJ(n)~::)Cll) 6)n!)(W(T) n!)Cll)CilT) <lkEbO§o B cwlam 

m1cm6o <f±>6)6rncm-ID6<f±>. 

A B 
(a) abs() (i) String.h 
(b) isalpha() (ii) stdio.h 
(c) Strcmp() (iii) math.h 

(iv) ctvoe.h 

2 8 Ql6Cl5'l<n'l> 30 QJ6)(l)Cl2)6~ <J.!2.JOC3d6m@.1<n'l> 

(2x5=10) 

28. <f±>ffiJ~01am 6)6)ln.Jlll016)Q.'ltlYil01Cl2)66)S W<fltlY.Ilo 

n{f)mn" ? m~cm" Cl5'lroo 6)6)tn.Jaio1 

6) m am o1 <f±> 6) § c66) 6 o1 ~" cro o cOO{l 'M mo Cl2)1 

rulruro1ce6)6<f±>. 
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29. a) Write any two characteristics of 29. (Cl@) CIDOmT>6)room1m>mn:>16)r@ affi6>®8:h1e.i6o 

, algorithm. (Score: 2) 

•b) Write an algorithm to input a 

number and find its factorial. 

(Hint: Factorial of a number, say N, is 

the product of numbers from I to N.) 

(Score: 3) 

and check whether it is palindrome or 

not. 

( m.fl) 63©6 CTUo6lJJ gQ®ci.Jc!,§" 6>!2..l<nrcm CIDOm>'J6>r@ 

o.OO<l~001<DJmT> c£b~6n.JlS1cB6)6o:nm>1m6~ 

CIDOm1>6>(1)0C01m>o Oij)l.96m>6c£b. 

( CTU~!2..lm: ~Boo.oro6TT>mow1 N Oij)(TT) 

CTU06lJJ<DJc!,6>S o.OO<l~001<DJmT>, 1 Q}c!,®mT> N 

ru 6> co <DJ 6~ CTUo 6lJ Jc£b~6 6>S ro 6 6TT> mo.a eJ o 

~cwlro1cB6)6o.) (3) 

ci.J o eJl cro ex l cwo o ~ a: 6TT> o 6> <DJ (TT) V 

ci.Jctfl<Xcmow1c:006(TT)m>1m6~ C++ <lllCl.JOl(l)Oo 

Oij)l_9c!,®c!,c£b, 
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